Osum P, / An deltagp O

Ratio to ATLAS

=
IN

=
N

0.8

0.6

0.4

0.2

[EEY

§||||
)

ﬁ

a

&

3

&

a

o
L

0.5

13000 GeV pp

Z(pT) vsAQ (n] < 2.5, p.>05GeV,p >1 GeV)

B ATLAS
--G-- Herwig++ 2.7.0 default
--3-- Herwig 7.2.1 default
—— Pythia 8.308 default

AAAAARS oy

"-i‘.,lI

S N F T T R
15 ““‘“-G?g.st*caca:.:eac:.r-ec:‘“’

H -;
(] HnH NGS5
oo i

Underlying Event
L I B B

H "“\?E‘,

150
|A @ [degrees]

Rivet 3.1.10, = 500k events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


